
DS42-430BL12
  

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

TV desk mount

TV-bureausteun

TV-Tischhalterung

Support de bureau TV

Supporto da tavolo per TV

Soporte de mesa para TV

Suporte de mesa para TV

TV-bordbeslag

NO 

SE 

FI 

PL 

CS 

SK 

RO 

TV-skrivebordfeste

TV-bordsfäste

TV-pöytäteline

Uchwyt na biurko TV

Stolní držák na TV

Držiak TV na stôl

Suport de birou TV

WWW.NEOMOUNTS.COM

INSTRUCTION MANUAL

Measuring unit: mm

220

22
0

200
100

20
0

10
0

45
0

Ø125

Ø41

20

+30°

-30°



PARTS

DS42-430BL12

Before installing, make sure the front faces towards the 
viewing direction. Afterwards it is difficult to adjust
Zorg er voor het installeren voor dat de voorkant in de 
kijkrichting wijst. Nadien is het moeilijk aan te passen
Vergewissern Sie sich vor der Montage, dass die Vorder-
seite in Blickrichtung zeigt. Nachher ist es schwierig, sie 
einzustellen
Avant l'installation, assurez-vous que la face avant est 
orientée dans le sens de la vue. Après, il est difficile 
d'ajuster
Prima di installarlo, accertarsi che la parte anteriore sia 
rivolta verso la direzione di visione. Successivamente, 
è difficile da regolare
Antes de la instalación, asegúrese de que la parte fron-
tal está orientada en el sentido de la visión. Después es 
difícil ajustar
Antes de instalar, certifique-se de que a parte da frente 
está virada para a direção de visualização. Depois, é 
difícil ajustar
Przed montażem należy upewnić się, że przód jest skie-
rowany w kierunku patrzenia. Później trudno będzie 
go wyregulować

EN

NL

DE

FR

IT

ES

PT

PL

Tool

100x100 -
200x200 mm

0-50 kg

M-A. M4x14
(x4)

C. M6
(x4)

D. M6x25
(x4)

E. M6x30
(x4)

A. (x1) M-G. (x8)

B. (x1) F. (x1) G. (x1)

M-B. M5x14
(x4)

M-C. M6x14
(x4)

M-D. M8x20
(x4)

M-E. D5
(x4)

M-F. D8
(x4)

STEP 1

Backside

AA



* Not Included

Install the mount to the desk
Installeer de steun op het bureau
Montieren Sie die Halterung auf dem Tisch
Installer le support sur le bureau
Installare il supporto sulla scrivania
Instale el soporte en el escritorio
Instalar o suporte na mesa
Zamontuj uchwyt do biurka

EN
NL
DE
FR
IT
ES
PT
PL

Attach the VESA plate to the screen
Bevestig de VESA plaat aan het scherm
Befestigen Sie die VESA-Platte am Bildschirm
Fixez la plaque VESA à l'écran
Fissare la piastra VESA allo schermo
Fije la placa VESA a la pantalla
Fixar a placa VESA ao ecrã
Przymocuj płytkę VESA do ekranu

EN
NL
DE
FR
IT
ES
PT
PL

STEP 3

STEP 2

D E

TVTV

TV

B

The VESA plate should be installed 
in the right direction as shown.  

B

M-E

M-A M-B

M-C M-D

M-E M-F



Use spacers if necessary
Gebruik zo nodig afstandhouders indien nodig
Verwenden Sie Distanzscheiben, wenn nötig
Utiliser des entretoises si nécessaire
Utilizzare i distanziatori, se necessario
Utilice separadores si es necesario
Utilize espaçadores, se necessário
W razie potrzeby użyj elementów dystansowych

EN
NL
DE
FR
IT
ES
PT
PL

Screw 2 bolts in the upper 2 VESA holes of the screen,
leaving 4 mm spacing
Draai 2 bouten in de bovenste 2 VESA-gaten van het
scherm en behoud een tussenruimte van 4 mm
Setzen Sie 2 Schrauben in die oberen 2 VESA-Löcher
des Flachbildschirms ein und lassen Sie dabei einen
Abstand von 4 mm
Insérez 2 vis dans les 2 trous VESA supérieurs de l'écran
et gardez un espace de 4 mm
Inserire 2 bulloni nei 2 fori VESA superiori dello schermo
e mantenere uno spazio di 4 mm
Inserte 2 tornillos en los 2 orificios VESA superiores de
la pantalla dejando un espacio de 4 mm
Insira 2 parafusos nos 2 orifícios VESA superiores do
monitor mantendo um espaço de 4 mm
Włóż 2 śruby w 2 górne otwory VESA ekranu i zachowaj 
odstęp 4 mm

EN

NL

DE

FR

IT

ES

PT

PL

STEP 4

OPTION

TVTV

TV

* Not Included

M-D M-D

M-F M-F

M-G M-G

C

4mm

C



Attach the screen to the mount
Bevestig het scherm aan de steun
Befestigen Sie den Bildschirm an der Halterung
Fixer l'écran au support
Fissare lo schermo al supporto
Fijar la pantalla al soporte
Fixar o ecrã ao suporte
Przymocuj ekran do uchwytu

EN
NL
DE
FR
IT
ES
PT
PL

Adjust the torque
Stel het koppel in
Einstellen des Drehmoments
Ajustez les couples de serrage
Regolazione della coppia
Ajuste el tornillo
Ajustar os parafusos
Ustawić momenty obrotowe

EN
NL
DE
FR
IT
ES
PT
PL

STEP 6

STEP 5

F

C

G

C

F



Adjust the mount to the desired position
Stel de steun in op de gewenste positie
Stellen Sie die Halterung auf die gewünschte 
Position ein
Ajustez le support à la position souhaitée
Regolare il supporto nella posizione desiderata
Ajuste el soporte a la posición deseada
Ajuste o suporte na posição desejada
Dostosuj pozycję uchwytu do twoich wymagań

EN
NL
DE

FR
IT
ES
PT
PL

STEP 7

±30°





24.08


